
Base your answer to question on the map and on your knowledge of social studies.

Which conclusion about Great Britain's population between 1701 and 1850 is best 
supported by this map?

1. Political unrest caused rural people to move to the towns. 
2. Many people moved from the London area to the area around Liverpool and 

Birmingham. 
3. The size of most urban areas decreased. 
4. The population of some cities and towns increased dramatically.

Base your answer to the question on the map and on your knowledge of social studies.



Which conclusion is best supported by the information on the map?

1. England's natural resources led to the growth of industrial cities. 
2. In 1830, England had an unfavorable balance of trade. 
3. Great Britain's prosperity unified the people. 
4. People emigrated from Great Britain because of pollution.



". . . A place more destitute of all interesting objects than Manchester, it is not easy to 
conceive. In size and population it is the second city in the kingdom, containing above 
fourscore thousand [80,000] inhabitants. Imagine this multitude crowded together in 
narrow streets, the houses all built of brick and blackened with smoke; frequent buildings
among them as large as convents, without their antiquity, without their beauty, without 
their holiness; where you hear from within, as you pass along, the everlasting din of 
machinery; and where when the bell rings it is to call wretches to their work instead of 
their prayers, . . . "

-- Robert J. Southey, Letters from England, 1807

The conditions described in this passage occurred during the

1. Age of Discovery 
2. Renaissance 
3. Industrial Revolution 
4. Green Revolution

Base your answer to the question on the map below and on your knowledge of social 
studies.



 
Which concept is most closely associated with the pattern of population distribution in 
England shown on this map?

1. urbanization 
2. colonization 
3. collectivization 
4. globalization 


